ADVANCED HIGHER MATHEMATICS
Solutions to Exam Questions on Basic Integration
1.
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2.
Multiply out the brackets first before integrating.
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To find 
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Note that   
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Note
Alternatively, the substitution 
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4.
To find 
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Note
Alternatively, the substitution 
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To find 
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Note that   
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Alternatively, the substitution 
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Using the substitution 
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Let   
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Using the substitution 
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, rewrite the entire integral in terms of u (including the limits).
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Using the substitution 
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Using the substitution 
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, rewrite the entire integral in terms of u (including the limits).
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The new limits must be expressed in radians.
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Notes
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The new limits must be expressed in radians.
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Notes
(1)
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The new limits must be expressed in radians.
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Notes
(1)

[image: image383.wmf]2

4

x

-

 must be simplified to 
[image: image384.wmf]q

cos

2

.

(2)
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Note   
The new limits must be expressed in radians.
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